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13

(2,000) 33.4 6.7 32.6 46.7 33.0 13.8 32.6 9.7

(862) 26.7 4.9 34.7 49.7 31.2 11.0 29.8 11.0

(1,105) 38.8 8.2 30.9 44.9 34.8 15.6 34.8 8.8

10 20 (89) 28.1 6.7 28.1 62.9 29.2 7.9 38.2 2.2
30 (153) 20.3 7.2 38.6 58.2 28.8 7.8 39.2 4.6
40 (139) 20.9 2.9 38.8 68.3 23.0 9.4 40.3 4.3
50 (121) 28.9 4.1 33.1 47.1 30.6 8.3 30.6 14.0
60 (171) 31.6 4.1 37.4 41.5 32.7 14.6 26.3 22.8
70 (188) 29.8 4.8 30.3 31.9 39.4 14.9 13.3 12.8
10 20 (135) 37.0 5.2 30.4 62.2 34.1 9.6 45.9 9.6
30 (206) 38.3 10.2 33.0 51.5 30.6 14.6 41.7 4.9
40 (203) 39.4 7.9 27.6 48.3 29.6 14.3 38.9 4.4
50 (165) 38.2 7.3 35.2 46.1 34.5 20.6 32.1 11.5
60 (234) 41.5 7.7 30.8 41.9 41.9 16.2 32.1 15.0
70 (158) 36.1 10.8 29.1 20.3 35.4 17.7 19.0 7.0
(369) 33.6 33.9 19.0 46.6 32.0 33.3 17.1 10.6

(212) 21.7 30.2 24.1 44.3 31.1 23.6 18.4 18.4

(261) 42.9 44.1 32.2 55.9 42.5 41.4 25.3 4.2

(546) 39.7 38.8 27.7 52.4 46.5 34.6 26.7 9.9

(226) 27.9 40.3 22.1 46.9 31.9 32.3 27.9 20.8

(311) 40.8 39.9 32.2 57.6 46.9 33.1 26.0 8.7

(81) 40.7 32.1 21.0 44.4 27.2 43.2 22.2 8.6

(66) 42.4 37.9 19.7 34.8 37.9 33.3 21.2 3.0

(19) 21.1 42.1 26.3 47.4 21.1 31.6 10.5 15.8

(27) 29.6 29.6 25.9 55.6 25.9 37.0 18.5 0.0

(187) 27.3 33.2 16.6 49.7 33.7 27.3 13.9 16.0

(131) 52.7 42.0 28.2 55.7 48.9 42.0 24.4 6.9

(76) 50.0 42.1 30.3 56.6 55.3 44.7 39.5 3.9

(35) 34.3 25.7 25.7 60.0 62.9 34.3 20.0 5.7

(54) 55.6 38.9 29.6 57.4 48.1 37.0 20.4 1.9

(268) 26.1 37.3 25.0 45.1 38.4 25.7 25.7 17.5
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13

(2,000) 24.2 38.0 50.8 51.0 16.1 44.7 14.9

(862) 20.0 40.0 418 50.3 17.5 38.3 14.4

(1,105) 27.6 36.8 58.2 51.7 15.0 50.0 14.9

10 20 (89) 32.6 50.6 61.8 61.8 20.2 32.6 9.0
30 (153) 22.2 61.4 44.4 63.4 22.9 37.3 7.2
40 (139) 16.5 51.8 345 54.0 22.3 32.4 10.1
50 (121) 14.0 35.5 35.5 455 19.0 39.7 10.7
60 (171) 19.9 29.2 44.4 45.0 12.3 48.5 15.2
70 (188) 18.1 21.8 37.2 39.4 12.2 36.2 27.7
10 20 (135) 45.2 415 78.5 60.7 16.3 51.9 7.4
30 (206) 33.0 50.0 68.9 60.7 13.6 48.5 6.3
40 (203) 28.1 41.9 59.6 55.2 14.8 56.7 8.4
50 (165) 24.8 38.2 54.5 54.5 16.4 58.8 7.3
60 (234) 25.2 30.3 52.6 49.1 18.8 453 20.9
70 (158) 12.0 17.7 37.3 29.7 9.5 39.2 39.2
(369) 16.3 46.9 38.2 46.3 17.9 38.2 13.3

(212) 17.9 25.0 37.7 46.2 11.3 38.7 20.3

(261) 26.4 43.7 50.2 60.2 21.8 39.1 9.2

(546) 26.2 37.7 57.9 55.5 13.9 52.4 13.0

(226) 20.8 31.0 51.3 47.3 15.0 44.2 23.0

(311) 34.7 41.2 64.6 49.5 16.7 50.5 10.6

(81) 14.8 74.1 32.1 54.3 13.6 21.0 9.9

(66) 13.6 51.5 37.9 54.5 22.7 43.9 9.1

(19) 26.3 52.6 31.6 52.6 10.5 36.8 15.8

27) 22.2 55.6 48.1 51.9 29.6 48.1 0.0

(187) 15.5 29.9 39.6 39.0 16.0 41.2 19.3

(131) 32.8 54.2 71.0 71.8 10.7 51.1 9.2

(76) 30.3 40.8 61.8 63.2 17.1 52.6 5.3

(35) 22.9 28.6 60.0 48.6 14.3 68.6 2.9

(54) 31.5 46.3 61.1 57.4 22.2 63.0 1.9

(268) 20.1 26.1 46.3 44.0 12.3 47.0 23.1
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13

(2,000) 60.8 42.6 41.7 49.4 15.8 35.8 26.4 2.8 12.8

(862) 60.1 35.6 40.1 48.5 17.9 37.4 27.0 2.4 12.3

(1,105) 61.8 48.4 42.9 50.7 14.0 34.8 25.9 3.1 12.9

10 20 (89) 58.4 37.1 47.2 60.7 30.3 55.1 34.8 4.5 10.1
30 (153) 58.2 43.8 52.3 56.2 37.9 56.2 45.8 2.6 4.6
40 (139) 57.6 39.6 37.4 54.0 20.1 46.0 30.2 2.9 7.2
50 (121) 60.3 32.2 35.5 46.3 9.1 29.8 24.8 1.7 7.4
60 (171) 68.4 32.7 42.1 46.8 9.9 28.1 20.5 2.3 11.7
70 (188) 56.9 30.3 30.3 35.6 6.4 20.2 12.8 1.6 27.1
10 20 (135) 63.7 51.9 50.4 62.2 25.9 51.9 36.3 5.2 6.7
30 (206) 69.4 53.9 54.9 58.3 25.2 46.6 43.2 4.4 3.4
40 (203) 67.0 54.7 39.9 51.7 15.8 40.4 28.1 2.0 5.4
50 (165) 66.7 50.9 43.0 51.5 5.5 29.1 25.5 3.0 7.9
60 (234) 59.4 41.9 39.3 49.6 6.8 25.6 14.1 3.0 18.4
70 (158) 42.4 38.0 29.7 30.4 7.0 17.7 10.1 1.3 36.7
(369) 58.3 36.0 37.4 48.5 19.8 40.1 29.3 2.7 11.1

(212) 64.6 31.1 35.8 42.9 6.6 22.6 17.9 1.4 17.0

(261) 59.8 39.1 48.7 54.0 24.9 45.6 31.8 3.1 8.8

(546) 64.1 49.6 43.6 51.1 15.8 39.7 26.9 3.3 10.1

(226) 51.3 46.5 36.7 43.8 7.5 24.3 14.6 2.2 22.1

(311) 66.6 48.9 47.6 56.3 15.4 34.4 31.8 3.2 9.3

(81) 61.7 48.1 44.4 46.9 30.9 60.5 40.7 0.0 6.2

(66) 47.0 31.8 33.3 57.6 39.4 56.1 43.9 7.6 4.5

(19) 57.9 36.8 31.6 73.7 15.8 31.6 31.6 0.0 10.5

(27) 51.9 33.3 33.3 55.6 3.7 37.0 37.0 7.4 3.7

(187) 61.5 32.6 36.4 41.7 10.2 25.7 17.1 1.6 17.6

(131) 67.9 60.3 48.9 51.1 28.2 55.0 35.1 5.3 6.1

(76) 56.6 44.7 40.8 56.6 27.6 60.5 38.2 3.9 2.6

(35) 71.4 60.0 51.4 51.4 14.3 45.7 40.0 0.0 2.9

(54) 72.2 66.7 57.4 61.1 16.7 51.9 33.3 3.7 1.9

(268) 60.4 38.8 36.9 45.5 5.6 21.6 15.3 2.6 18.7

139




14

0%

50.1

20% 40% 60% 80%

| 59.3

]50.1

/j“’ /jﬂ66_7

B n=2,000

O n=862

n=1,105
17

140

18

66.7

17
0% 20% 40% 60% 80%
& 1 66.7
.............. ‘168.9
i 65.4
12.9
119.1
25.0
@ 21 n=1,105)
| 17 n=1,139)
14 n=1,002)




19

66.4
62.8 47.6 40.9
DVD 38.9

DVD

0% 10% 20% 30% 40% 50% 60% 70% 80%

141



40

50

30

40

DVD

/
(n=2,000)
(n= 862)
(n=1,105)
10 20  (n=89)
30 (n=153)
40 (n=139)
50 (n=121)
60 (n=171)
70 (n=188)
10 20 (n=135)
30 (n=206)
40 (n=203)
50 (n=165)
60 (n=234)
70 (n=158)
(n=2,000) ‘ (%)
(n= 862)
(n=1,105)
10 20 (n=89)
30 (n=153)
40 (n=139)
50 (n=121)
60 (n=171)
70 (n=188)
10 20 (n=135)
30 (n=206)
40 (n=203)
50
60
70

142

(%)



(n=2,000) |

10 20

30

40

50

60

70

10 20

30

40

50

60

70 (n=158) [
(n=2,000) (%)
(n= 862) 2.
(n=1,105) |2

10 20 (n=89) [

30 (n=153)

40 (n=139) |

50 (n=121) 4.

60 (n=171)

70 (n=188)

10 20 (n=135)

30 (n=206) |

40 (n=203) |

50 (n=165)

60 (n=234)

70 (n=158)

143

(%)



17

14

14

43.0

0%

10%

20%

30%

40%

50%

60%

70%

™7 66.4

14

144

DVD

14

DVD



10

70

10

70

26.9
n=2,000
n=862
n=1,105
20 n=89
30 n=153
40 n=139
50 n=121
60 n=171
n=188
20 n=135
30 n=206
40 n=203
50 n=165
60 n=234
n=158

0%

10%

20%

30%

20

53.9

58.4 48.0 10

40% 50% A60% 70% 80% 90% 100%

145



21

17

14

14

17

100%

0%  10% 20%  30% 60% 70% 80%  90%
|
n=2,000 14.3 15.8
(n=1,929) 10.754%10.984 8.0
(n=1,736) 14.4:55510.4
17
21

146

3.5

4.3



21

65.1
39.1
31.9
0% 10% 20% 30% 40% 50% 60% 70%  80%
21 n=2,000)
17 n=1,153)
14 n=1,011)
21 17 17
14
17
21

147



30

40
0% 20% 40% 60% 80% 0% 20% 40% 60% 80% 0% 20% 40% 60% 80% 0% 20% 40% 60% 8O%
(n=2,000)
(n= 862)
(n=1,105)
10 20 (n=89)
30 (n=153)
40 (n=139)
50 (n=121)
60 (n=171)
70 (n=188)
10 20 (n=135)
30 (n=206)
40 (n=203)
50 (n=165)
60 (n=234)
70 (n=158)
0% 20% 40% 60% 80%O% 20% 40% 60% 80%0% 20% 40% 60% 80%
n=200 f#25  fe2 " fs7r
(= 862) []2.8 13.2 3.0
(n=1105) 2.3 1.4 135
10 20 (n=89) 4.5 ]3.4
30 (n=153) a6 ]33
40 (n=139) 3.6 12.9
50 (n=121) 125 a1
60 (n=171) 0.6 4.7
70 (n=188) a3 4.8
10 20 (n=135) 3.7 3.7
30 (n=206) 0.0 3.4
40 (n=203) 05 15
50 (n=165) 0.6 13.0
60 (n=234) 1.3 3.4
70 (n=158) 13.2 7.0

148




70

10

70

50

30

40

50

60

20

30

40

50

60

40

n=2,000
n=862

n=1,105

n=153
n=139
n=121
n=171
n=188
n=135
n=206
n=203
n=165
n=234

n=158

0%

22

50 10 20
10% 20% 30% 40% 50% 60% 70% 80% 90% 100%

S B | B | A | E
1.2 | 0.6 1.1 3.4
1.5 | 05 1.9 4.1
1.0 | 0.6 0.4 2.9
0.0 | 11 1.1 4.5
1.3 | 0.7 0.7 4.6
14 | 0.0 0.7 4.3
0.8 | 0.0 2.5 0.8
1.8 | 0.0 1.2 2.9
2.7 1.1 4.3 6.4
3.7 | 0.0 0.0 0.7
1.0 | 05 0.5 3.4
0.0 | 05 0.5 1.0
0.6 | 1.2 0.0 3.0
0.4 | 04 0.0 3.0
1.3 | 1.3 1.3 5.7

149




23

52.8
28.6
61.0
58.4 31.0
21.8 5.2
36.4 22.4
0% 10% 20% 30% 40%

46.0

61.0

50% 60%

58.4

46.6

70%

150




10 20 30.3

0% 20% 40% 60% 80% 0% 20% 40% 60% 80% 0% 20% 40%

60%

80%

10

30
40
50
60
70

20

10

30
40
50
60
70

20

0% 20% 40% 60% 80% 0% 20% 40% 60% 80% ow 20% 40%

60%

80%

10

30
40
50
60
70

20

10

30
40
50
60
70

20

151



0% 20% 40% 60% 80% 0% 20% 40% 60% 80% 0% 20% 40% 60% 80%
(n=2,000) [F]12.6 6.7 Jao
10 20
30
40
50
60
70
10 20
30
40
50
60
70
O% 20% 40% 60% 8% O% 20% 40% 60% 80% 0% 20% 40% 60% 80%
m=20000 W42 f2a " Hae
(n= 862) 11.6 [45
(n=1,105) 2.9 5.1
10 20 (n= 89) 0.0 ]_1.1
30 (n=153) 0.0 3.3
40 (n=139) 0.7 5.0
50 (n=121) 3.3 4.1
60 (n=171) 123 a1
70 (n=188) 2.7 7.4
10 20 (n=135) 12.2 1.5
30 (n=206) 1.5 2.4
40 (n=203) 3.4 3.0
50 (n=165) %3.0 7.3
60 (n=234) 13.0 5.6
70 (n=158) 4.4 ] 11.4

152




24

91.3
91.1

39.7
41.7 46.7

n=2,000 0% 10% 20% 30% 40% 50% 60% 70% 80% 90%| 100%

153



56.0

0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%

n=2,000

n=862

n=1,105

0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%

n=2,000

n=862

n=1,105

0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%

n=2,000

n=862

n=1,105

154



n=2,000
n=862

n=1,105

n=2,000
n=862

n=1,105

0%

10%

20%

30%

40%

50%

60%

70%

80%

90%

100%

0%

10%

20%

30%

40%

50%

60%

70%

80%

90%

100%

155



n=2,000
n=862

n=1,105

n=2,000
n=862

n=1,105

n=2,000
n=862

n=1,105

0%

0%

106 20%  30%  40% 504  60%  70% | 80%  90% | 100%
5:00.8 [5.5

2313 5.3

""" 2.6]0.4 |5.2

10%  20%  30%  40%  50%  60%  70%  80% 90K | 100%

0%

10%

20%

30%

40%

50%

60%

70%

80%

90%

100%

156



0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%

n=2,000 | . 38,1 5.6/ 6.1

n=g62 | . 434" 76158 |
n=1,105 | 3 5158 |
% 10%  20%  30%  40%  50%  60%  70%  80%  90%| 100%
1=2,000
n=862
n=1,105

0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%

n=2,000 | 41, 405 97 60]
n=862 | Y
n=1,105 | i B 9.9 101759 |

0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%

n=2,000

n=862

n=1,105

157



40 10 20
70

40 50

/12

0% 10% 20% 30% 40% 50% 60% 70% | 80%  90% | 100%

n=2,000

n=862

n=1,105

10 20 n=89

30 n=153
40 n=139
50 n=121
60 n=171
70 n=188

10 20 n=135

30 n=206
40 n=203
50 n=165
60 n=234
70 n=158




70

10

70

30

40

50

60

20

30

40

50

60

n=2,000

n=862

n=1,105

n=139

n=121

n=171

n=188

n=135

n=206

n=203

n=165

n=234

n=158

0%

10%

20%

30%

/12

40%

50%

60%

70%

80%

90%

100%

159



70

10

70

30

40

50

60

20

30

40

50

60

n=2,000

n=862

n=1,105

n=153

n=139

n=121

n=171

n=188

n=135

n=206

n=203

n=165

n=234

n=158

0%

10%

20%

30%

/12

40%

50%

60%

70%

80%

90%

100%

160



70

10

70

30

40

50

60

20

30

40

50

60

n=2,000

n=862

n=1,105

n=139

n=121

n=171

n=188

n=135

n=206

n=203

n=165

n=234

n=158

0%

10%

20%

30%

/12

40%

50%

60%

70%

80%

90%

100%

161



70

10

70

30

40

50

60

20

30

40

50

60

n=2,000

n=862

n=1,105

n=139

n=121

n=171

n=188

n=135

n=206

n=203

n=165

n=234

n=158

0%

10%

20%

30%

/12

40%

50%

60%

70%

80%

904

100%

162



70

10

70

30

40

50

60

20

30

40

50

60

n=862

n=1,105

n=153

n=139

n=121

n=171

n=188

n=135

n=206

n=203

n=165

n=234

n=158

0%

10%

20%

30%

/12

40%

50%

60%

70%

80%

90%

100%

163



70

10

70

30

40

50

60

20

30

40

50

60

n=2,000

n=862

n=1,105

n=139

n=121

n=171

n=188

n=135

n=206

n=203

n=165

n=234

n=158

0%

10%

20%

30%

/12

40%

50%

60%

70%

80%

90%

100%

164



70

10

70

30

40

50

60

20

30

40

50

60

n=2,000

n=862

n=1,105

n=153

n=139

n=121

n=171

n=188

n=135

n=206

n=203

n=165

n=234

n=158

0%

10%

20%

30%

40%

50%

60%

70%

/12

80%

100%

165



70

10

70

30

40

50

60

20

30

40

50

60

n=2,000

n=862

n=1,105

n=153

n=139

n=121

n=171

n=188

n=135

n=206

n=203

n=165

n=234

n=158

0%

10%

20%

30%

/12

40%

50%

60%

70%

80%

90%

100%

166



70

10

70

30

40

50

60

20

30

40

50

60

n=2,000

n=862

n=1,105

n=139

n=121

n=171

n=188

n=135

n=206

n=203

n=165

n=234

n=158

0%

10%

20%

30%

10/12

40%

50%

60%

70%

80%

90% [ 100%

167



10 20

30

40

50

60

70

10 20

30

40

50

60

70

n=2,000

n=862

n=1,105

n=89

n=153

n=139

n=121

n=171

n=188

n=135

n=206

n=203

n=165

n=234

n=158

0%

10%

20%

30%

11/12

40%

50%

60%

70%

80%

90%

100%

o
11.9

6.0

14.4

5.7

101

5.9

168



n=2,000

n=862

n=1,105

10 20 n=89
30 n=153

40 n=139

50 n=121

60 n=171

70 n=188
10 20 n=135
30 n=206

40 n=203

50 n=165

60 n=234

70 n=158

0%

10%

20%

30%

12/12

40%

50%

60%

70%

80%

90%

100%

169



60.1

14

52.4

0% 10% 20% 30%

40%

54.3

50%

70%

o @

17
14

21
(n=1,929)
(n=1,736)

n=2,000

170



39.8 26.6
21.6 13.4

0% 10% 20% 30% 40% 50% 60% 70%

B B i | . ol
7 7 2 39 8

= n=2,000
a n=862
7 n=1,105

171



n=2,000

n=862

n=1,105

3.2

0%

10%

20%

7.4

30%

40%

50%

60%

26

70%

80%

10.5

90%

100%

11.1

11.9

10.0

10.0

172



6.2

0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%

(n=2,000)

12.3

17.9

17.0

8.8

0% 10% 20% 30% 40% 50% 60% 70% 80% 90%  100%

(n=862) 12.4

(n=1,105)

11.8

14.8

19.8

14.6

(n=1,105) 2|0

10.0 18.6

173



123

44.7 41.5
31.7
49.5
43.3
37.1
0% 10%  20% 304  40%  50% 604
44
[25.0
7 749.5
-I-Z-Z-Z-Z-Z-Z-I-Z-Z-Z-Z-Z-Z-Z-I-Z-Z-Z-Z-Z-Z-Z-I-Il-ﬁ-ﬁ-ﬁ-ﬁ-:'ﬁl41.5
7 2 7 7 7 43.3
............................................... 131.7
137.5
? A789
---------------------------------------------- 130.9
41.7
47273
-1 30.9
[29.2
7 % 7777777 29.9
............................................. |30l
(2.2
71317.1

O (n=123)
m| (n=24)
B (n=97)

174



0% 10% 20% 30% 40% 50% 60% 70% 0%

10% 20% 30% 40% 50% 60% 70%

:;:;:;:;:;:;:;:;:;:;:;:;:|3 5
40.0
66.7 F #31.8
] 60.0
27.6
| 40
] 27.3
] 37.9
136.4
|40.0
.8
20.0
24.1
]40.0
#118.2
i x| (n=11) - ] (n=29)
0.0 o (n=3) 99 o (n=5)
0.0 (n=8) 0.0 (n=22)
§ 20.0

175




27

49.0

46.0 40.7

39.2

50.2 41.0

0% 10% 20% 30% 40% 50% 60% 70%

% 7z 7z 7z 7Z7151.9

B n=2,000
O n=862
n=1,105

176



45.1

19

0% 20%

40%

64.2

60% 80%

n=2,000
n=862
n=1,105

177

0%

36.7

19

20%

48.2

40% 60% 80%

0.9
1.4
0.6

B n=2,289
a n=1,024
E n=1,265




28

58.7 51.9

0% 10% 20% 30% 40% 50% 60% 70%

™7 55.7
51,9
71587

n=2,000

n=1,105




29

30.9

12.7 10.3

2 000 0% 10% 20% 30% 40% 50% 60% 70% 80% 90%  100%
n=¢,

N  E
309777

al

T 2 T &
e % ] &

|._ 2 — % aRiEy
e +
| | -~ ?'g
| b{r g TL
| ikt E et B
ATLoTLE

Bl SFpis
Crdaget jFm

&
X,

179



180

564

14

93

31

19

20



181

14

22

20



182

10

19

16



183

15

29



17

20

184



DV

DV

185



PR

186

28
11

16

38



10

187

12

12












21 13

18 5,000

21

191




n n=2,000

=
43.1 . 55.3 1.7
=
.20 19 1.7 .20 24 3.5 4.0 .25 29 50 6.5
.30 34 8.4 8.7 .35 39 9.4 10.0 .40 44 8.4 9.7
.45 49 7.8 8.7 .50 54 79 7.1 .55 59 6.1 7.9
10.60 64 11.0 10.6 11.65 69 8.8 10.6 12.70 21.8 14.3
0.1 04
F o
6.5/5.6 . 5.5/7.3 . 2.6/2.2 . 4.3/4.0
5.0/4.8 . 8.6/6.5 . 5.5/5.7 . 8.9/7.1
4.3/5.4 10. 5.9/4.9 11. 7.9/8.2 12. 5.9/5.2
13. 4.2/3.4 14. 6.6/9.1 15. 7.5/7.6 16. 3.6/3.5
17. 4.6/5.2 18. 2.6/3.7 0.1/0.4
= o
70 1.8 445 154
2.7 17.8 3.2 3.6
21 24 ( )
08 1.2
7.0 4.0 0.2 36.0
3.1 33 10. 26.9 12.6
11. 22 14 0.2 0.5
F o
124 8.1 31.4 28.0
445 49.0 58 5.7
53 8.9 05 05

192




p——

[ 73.0 67.1 |
1 0.8 1
L—————— e ———————————
14 15 :
49 115 :' -
e e e 182 160
17 27
F - F
n=1,401
I' _______ |
1 37.3 745 . 612 244 - 16 1.1
e e e e s e e— —
F - F -
o n=805
46/117 . 23.6/63.3
48.9/39 . 8.0/ 4.1
13/18 . ( ) 0.8/0.9
51/109 . 3.4/ -
-/ - 10. 3.0/ 2.0
11. 0.8/ L1 0.4/ 0.4

D

o
42.8 49.4 I
R ——— —l
g 24.6 20.5 i
|
e e o e 303 281 _ !
23 2.0
F - F
o n=922
22.0 23.8 26.3 21.2 i 13.0 11.9
10.8 16.3 52.0 51.1 - 09

193
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(@]
() 44.0 33.8 | 30.7 32.1 | 231 305 | 2.2 35
() 342 33.0 | 345 33.1 | 284 29.8 | 2.9 4.1
() 13.9 14.8 | 26.7 30.3 | 56.0 50.7 | 3.4 4.2
() 241 233 | 20.1 18.6 | 52.0 52.9 | 3.8 5.2
() 796 755 | 131 153 | 42 57 | 3.1 3.5
() 30.6 26.4 | 30.3 254 | 353 43.2 | 3.8 5.0
() 67.1 70.6 | 245 19.7 | 59 6.1 | 26 3.6
() DV 67.1 69.0 | 238 20.1 | 67 7.6 | 24 3.3
() 20.8 28.3 | 18.4 16.9 | 57.3 50.8 | 3.5 4.0
(10) 74 100 | 233 24.3 | 66.0 619 | 3.2 3.8
(11) 1.7 33 | 122 134 | 832 795 | 29 3.9
2
o
(1) 3.7/10.8 | 32.4/49.1 | 43.4/25.5 | 9.2/4.5 | 2.3/1.4|7.2/5.8 [ 1.9/2.9
) 9.0/17.0 | 49.4/50.3 | 22.5/12.5 | 2.4/1.3 | 1.3/0.1 | 12.4/15.8| 2.9/3.0
(3) 8.4/17.6 | 47.3/49.5 | 24.1/14.6 | 6.5/2.2 | 1.4/0.9 | 9.0/12.0| 3.2/3.2
(4) 1.0/ 1.7 | 4.9711.1|65.3/59.1 | 3.1/1.8 | 0.9/0.6 | 21.3/21.9| 3.4/3.7
(5) 1.9/6.3 | 18.3/27.3 | 46.8/35.0 | 6.8/4.3 | 0.8/0.5 |23.1/23.6| 2.3/2.8
(6) 11.7/28.9 | 44.3/43.6 | 26.9/11.0 | 2.3/0.9 | 0.3/0.1 |11.8/12.4| 2.6/3.1
(7) 2.7/11.6 | 23.7/36.6 | 50.8/27.1 | 8.2/4.0 | 1.9/0.3 | 10.4/16.9| 2.3/3.5
(8) 9.2/25.4 | 58.6/52.9 | 16.8/ 8.4 | 3.2/2.0 | 1.0/0.3 | 9.2/8.6 | 2.0/2.4
9) 4.5/14.6 | 55.8/61.2 | 23.2/11.9| 6.6/2.4 | 1.0/0.6 | 6.8/7.2 | 2.0/2.2
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(1) 115 | 349 | 302 60 | 154

8.1 | 244 | 345 73 | 23.3 06 | 16

(2) 368 | 37.2 | 13.0 45 6.1 1.2 1.2

207 | 301 | 23.0 73 | 16.8 06 | 14

3) 165 | 104 | 203 | 153 | 339 2.1 15

215 | 164 | 241 | 12.7 | 219 20 | 14

4) 53.2 28.4 10.6 2.4 1.5 1.3

621 | 24.9 7.2 10 | w7 | 15 | 15

(5) 146 | 242 | 425 9.6 55 22 1.4

186 | 249 | 422 69 | 43 | 16 | 15

(6) 53 | 123 | 406 | 148 | 238 | 15 | 16

30 | 87 | 405 | 145 | 301 17 | 15

(7) 19.5 34.0 35.5 3.1 4.2 2.6 1.2

219 | 319 | 350 31 | 49 | 18 | 14

(8) 2.7 50 | 325 | 161 | 39.6 1.9 1.4

20 | 34 | 243 | 143 | 525 17 | 17

9) 177 | 260 | 372 7.7 8.6 1.7 1.0

240 | 28.7 | 325 52 | 59 | 22 | 15

(10) 310 | 166 | 179 | 11.0 | 180 4.4 1.2

451 | 151 | 19.4 68 | 90 | 33 | 14

(11) 218 | 204 | 18.9 | 126 | 20.9 3.8 15

348 | 19.1 | 18.6 9.4 | 131 33 | 17

(12) 144 | 122 | 174 | 182 | 333 3.1 1.4

179 | 137 | 192 | 163 | 279 33 | 18

(13) 239 | 139 | 241 | 164 | 172 3.2 13

331 | 163 | 26.8 9.1 | 105 28 | 14

(14) 343 | 267 | 223 58 38 13

445 | 27.4 | 144 41 | 48 | 34 | 14
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n=1,401
(1) 2.0/88.2 | 6.1/ 5.6 | 86.0/ 1.9 | 3.3/2.1 | 0.2/- |0.6/0.7 | 1.7/1.6
(2) 6.6/77.2 | 16.2/12.6 | 66.2/ 3.6 | 8.5/4.2 | 0.2/- | 0.6/ 0.5 | 1.7/1.9
(3) 3.8/71.0 | 25.2/20.2 | 61.5/ 2.9 | 6.4/2.9 | 0.3/0.3 | 1.1/ 0.9 | 1.7/1.9
(4) 4.7/78.1 | 20.0/10.9 | 65.9/ 3.8 | 6.1/4.2 | 0.6/0.7 | 0.8/ 0.5 | 1.9/1.7
(5) 2.8/87.0 | 8.8/ 5.6 | 81.6/ 2.8 | 3.9/2.3 | 0.2/- | 0.6/ 0.5 | 2.0/1.9
(6) 10.8/725 | 11.6/14.7 | 73.3/ 8.1 | 0.9/1.3 | 0.2/0.1 | 1.3/ 1.1 | 1.9/2.1
(7) 20.5/51.7 | 17.6/17.9 | 42.9/13.1 | 3.6/2.9 | 0.2/0.1 | 10.8/11.5 | 2.4/2.7

5

o n=337
(1) - /87.6|125/6.2|73.6/05| 6.3/05 | -/- | 2.1/1.0 | 5.6/4.1
(2) - /75.6|25.7/15.5 [ 59.0/ 0.5 | 6.9/3.1 | -/- | 2.8/0.5 | 5.6/4.7
(3) 14.6/51.5 | 37.5/18.1 | 29.9/14.0 | 9.7/4.7 | 0.7/ - | 2.1/1.0 | 5.6/4.7
(4) 2.1/76.2 | 11.8/5.7 | 70.1/ 1.0 | 2.1/1.6 | -/- | 7.6/8.8 | 6.3/6.7
(5) 2.1/42.0 | 58.3/50.3 | 28.5/1.6 | 3.5/1.6 | -/- | 2.1/0.5 | 5.6/4.1
(6) 0.7/52.3 | 38.2/26.4 | 43.8/2.1 | 4.2/2.6 | -/ - |7.6/10.4 | 5.6/6.2
(7) 0.7/58.5 | 38.9/25.4 | 44.4/ - | 2.1/0.5 | -/- | 7.6/8.8 | 6.3/6.7
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I—I_ . 41 67 | . 011 87.7 - 49 5.6
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o n=114

14.3/17.6 . 31.4/27.0 . 29727 . 20.0/18.9
8.6/12.2 . /- . /1.4 . 2.9/ 1.4
17.1/17.6 2.9/1.4

7 ]
15 o
(1) 0.6/0.5 | 16.6/18.7 | 62.3/49.0 | 15.2/26.7 | 0.2/0.5 | 2.6/2.0 | 2.6/2.6
(2) 4.6/2.2 | 33.8/28.5 | 30.9/24.0 | 25.4/41.0 | 0.2/0.2 | 2.3/1.4 | 2.8/2.7
3) 1.9/0.8 | 39.1/33.5 | 33.8/3L.1 | 20.2/29.5 | 0.2/0.5 | 2.6/1.5 | 2.3/3.0
4) 2.8/1.4 | 342/21.3 | 33.5/21.6 | 24.2/38.7 | 0.2/0.8 | 2.3/1.1 | 2.7/3.0
(5) 1.3/1.1 | 24.8/19.1 | 49.7/46.2 | 19.0/29.2 | 0.1/0.3 | 2.4/1.2 | 2.7/2.9
(6) 5.5/3.3 | 27.3/33.1 | 52.8/49.0 | 8.6/9.0 | -/0.1 | 3.1/2.3 | 2.8/3.1
(7) 15.2/13.8 | 40.5/47.0 | 18.4/10.2 | 16.0/20.1 | 0.1/0.1 | 5.9/5.4 | 3.8/3.4
(8) 0.1/0.2 | 27.0/33.2 | 46.5/39.5 | 12.1/15.8 | - /0.5 | 2.9/2.0 | 11.4/8.8
(9) 0.7/0.3 | 40.8/45.2 | 29.1/22.8 | 13.9/19.7 | 0.7/0.9 | 3.1/2.4 | 11.6/8.7
(10) 8.9/10.1 | 50.1/51.2 | 10.1/6.4 | 15.3/20.2 | 1.2/1.2 | 2.8/2.5 | 11.6/8.3
(11) 2.0/1.4 | 36.2/41.2 | 30.4/24.7 | 15.5/20.8 | 0.6/0.4 | 3.5/2.6 | 11.8/9.0
(12) 2.6/1.0 | 64.2/10.2 | 7.3/4.6 | 12.1/12.8 | -/0.1 | 2.3/2.4 | 11.6/8.9
(13) 4.8/3.3 | 60.8/66.2 | 8.2/4.7 | 11.8/14.2 | 0.3/0.2 | 2.3/2.6 | 11.7/8.8
(14) 0.6/0.3 | 56.7/63.0 | 15.1/11.8 | 12.9/13.8 | - /0.1 | 3.2/2.3 | 11.5/8.8
(15) 1.9/0.4 | 54.4/47.7 | 5.1/4.1 | 19.3/28.6 | 4.2/8.4 | 3.7/3.0 | 11.5/1.9
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(1) 54.9/57.1 | 38.7/36.1 | 1.5/1.7 | 4.9/5.1
(2) 80.0/80.5 | 13.6/13.5 1.2/ 0.9 5.2/ 5.2
3) 90.3/91.9 3.5/ 2.4 0.8/ 0.3 5.5/5.3
4) 44.7/55.4 | 43.4/33.8 | 6.1/51 | 5.8/5.8
(5) 91.1/91.8 2.3/ 2.6 1.3/ 0.4 5.3/5.2
(6) 75.4/79.9 | 18.1/14.1 1.4/ 0.7 5.1/5.2
) 57.9/63.4 | 30.0/24.3 6.6/ 6.7 5.5/ 5.5
(8) 36.4/42.4 | 46.4/39.8 | 12.1/12.1 5.1/ 5.6
9) 38.5/44.1 | 41.4/39.9 | 14.4/10.1 | 5.7/ 5.9
(10) 53.5/68.5 | 34.2/21.7 | 6.7/4.7 | 5.6/5.1
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